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DEPARTMENTAL EXAMINATIONS (COMPUTER BASED TEST)

Name of the

Test: Departmental Test for  Evaluation
. and Applied Research Department 070
(Without Books)

Maximum Time: One Hour Maximum Marks: 40

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
Qama@m euemns edems g men

Read the following instructions carefully before beginning to answer the
questions.

eTEaEL&EE ollenl Weléas QBMLRAIG Wity Spésetm 2feemrsHemens
SEUGTTLONSGL) Liig $&6YLD.

1. This computer based Test contains 40 number of questions in objective
Type.

Qih5s seilell s GCaioumsngl, 40 QaMNGH suanEHuNOTaT eNeTdHEmaTs
Cl&MTuTL ).

2. Answer all questions. Each question carries one mark
Simasg amEs@sGL oL umMdsab @aQang  efiammayth @b
WAL 2 L ILg).

3 In case of doubt, English version is the Final.
eleréseaficy  sHCHHD  @mNssr QMmoo  augalled QeBTRSSLILL Geiten
allemé&Cen @miSliuwimens,y.

4. Words of masculine gender in these questions shall, where the context so
require, be taken to include feminine gender.

Qbs elaréaeflss @b Quibmsten SL6TT LImeSiesis Geuifleit eumiyden s sefisd
Comeuliligedt,  SMIGCHHL  Quetm uredengseufledt Qs maaenth
SlL RIGLD. :

5. Before answering the questions in CBT, candidates should read the following
instructions displayed in the monitor:
allsmemiugnyjsd saiol aufis Caialne el wef$as QeTru@Lh
W  sefafiuller  HemguNed CHMEmID  SNYDTHDET  SHEUSTLONSL)
Ulg &5H6LD.

a) One question will be displayed on the screen at a time.
@Gy CrIHHL @@ alem Wl HCL sewilelly Henguted ComeimLb.

b) Time available for you to complete the examination will be displayed through
a countdown timer in the top right-hand corner of the screen. It will display



‘Economics is a study of mankind in the ordinary business of life’ — It is the
statement of

weflga@iemLu ampsmsuder Deamnr_ pLeugdmasamear ubd Gummelue rmidng
erem Snlueu.

(A) Adam Smith (B) Lionel Robbins
LD evblE @eweard Trillere
(Cy” Alfred Marshall (D) Samuelson
TR AL | (T T ) (T srapGeuebaen

Which of the following is a micro economics statement?
Sipsasar_cupdled erg maranflud QumBaTTETTD ETAHESS ?

(A)

(B)

D)

The real domestic output increased by 2.5 percent last year
ELBS e[ e e o dpTl @ o husd 2.5% iflsfiggierang

Unemployment was 9.8 percent of the labour force last year

FL g e 9.8% 2 aps@b g&8 Caumauiarmn Hlawl Qupmereang
The price of wheat determines its demand

Garglenwnufer aflanar igean Coencuans Hlrenrudlss g

The general price level increased by 4 percent last year
sLps e Qung elae 4% iflslgg emeng

The basis for the law of demand is related to
SpsaanL e Cganas il SigliLmLwinss dsTamGieTeng.

B)

(®)
D)

Law of diminishing marginal utility
Gonbg Ged QndlHlea Lwerurl.( eSlg
Law of supply

siefliy efldl

Law of equi-marginal utility

s @ndBlee vwearLT @ e

Gossen’s law
smenes e

Pick the odd one out
pyeTu Leng Qghiey Cauis

(A)

(©

Luxuries (B) Comforts
DL LDLIY LIGHTL MBI ST euEd LT m&ET
Necessaries Mgricultural goods
G Huireudlu LIeTL_m&ET efleugmuy QUmpL&eT
3 028/DD/24
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5. In case of relatively more elastic demand the shape of the curve is
Blenas Coaneu Qpdlpsdl 2 eter CganeusCamigenr aliqalbreang
(A) Horizontal (B) Vertical
ubhdlenL AEDAEE TS
(C) Steeper Flatter
slenybg #flujb Clngieurs Ffluyb
6. The long-run production function is explained by
Beir sre 2 HusH iy eTdem epald SFULLREDS) ?
(A) Law of Demand (B) Law of supply
Cgamal 6llS) efluy el
Returns to Scale (D) Law of Variable Proportion
Hg siere| clanerey g wrpr 4élg erey elaneray alld
7. Which of the following is not a characteristic of land?
Epaar_cuppier orgl Hlavgder ApiGluedyy e ?
(A) Tts limited supply It 1s mobile
@eon efliiy @uRIEGL SeTenlbuen i Wwig
(C) Heterogeneous (D) Gift of Nature
Leele&LILUGID @upensuler ufls
8. The locus of the points which gives same level of satisfaction is associated with
0 Setey Fmubeow QarRéssdmigl ydeliaamer @enansgh Gar_nmeng QleaLen
Q&TLLjen. weneu
Mndifference Curves (B) Cardinal Analysis
wlpréE aumarGanipsar Guabue eylley
(C) Law of Demand (D) Law of Supply
Cgene efd afliiy &g
9. Recently Planning Commission of India has been reconstituted as
#BU sresde QbSw Brger S s@e, Spsrapb @Quufld wrHpliulLg.
(A) dJal Ayog (B) Niti Ayog
6 2CGWwins Bad G
(C) Rail Ayog \V’Bijﬂi Ayog

quiled HGuwimd edled Cuirs

028/DD/24 4



10.

11.

12.

13.

Wage 1s an example for —————— cost of the production.
el ———— GFwaisE@ aTOSHESTLLTELD.
(A) fixed Mariable

BEDT WOTMmILb
(C) marginal (D) opportunity

@ miiblene eumiiy
Long-run average cost curve is also called as ——— curve.
Bawri. are syrafl Gewas Canlh —————— Gan() aar SapsslinBdng.
(A) demand M planning

Coanau S
(C) production (D) sales

2 MHiigd e hHLieneor

An Iso-quant curve is also known as
g o Husdls Cariiger Gouy Quwif

(A) Inelastic Supply Curve (B) Inelastic Demand Curve
QApdlpsfupn sefliy Car® Cpdlpsslupn Ceameus GCar(

(C) Equi-marginal Utility \VEqual Product Curve
Fn-@mniblane Lwerum( g 2 Hugdl euanetGasr(H

Find total cost where TFC=100 and TVC=125
Qurgs rpré Geswey 100, Qorss wimb Gswe 125 aefley Grgss Cewameus
GeT &S (H .

A 125 B) 175

v 225 (D) 325

5 028/DD/24
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14. Which one of the following is not a point in the Welfare Definition of Economics?
eTgl QUAERENTSTT Hed @BadbsenTd FTiboHH0e ?

(A) Study of an ordinary man

gngnyen wellgenerts UHOIL LigliLig)
(B) Economics does not focus on wealth alone

Qumrpermgmyid Gadeud Bg w_Hb geafl seuand QFgsseuddama
(C) Economics 1s the study of material welfare

QurEmeTIEIIL eTemig LG UmmeT Belh FTibg Liig i

Economics deals with unlimited wants and limited means
Qumpermgryd  erememHm  eN(HULRIGMETU|D, GIE@TUNISSILIL L QIETEGEETLD

LpHluig
15. When price remains constant, AR will be MR.
eflena Blenawirs @rEGHDLCEUTE AR Can® MR Garl Hé@ ——————— <48 Q(BEGLD.
(y' Equal to (B) Greater than
FLOIDTE 3 F&Lns
(C) Less than (D) Not related to
(GDEUTE Qgmitubo

16. Profit of a firm is obtained when
ersGurg Flmeuenid @emuibd Qup (pyub?
(A) TR<TC (B) TR-MC
\(y’ TR > TC D) TR=TC

17. An example of selling cost is
dpuener eeiln@E o sryemrh

(A) Raw material cost (B) Transport cost
s&eml Gummer aflene Curs@Eeursg Cewey
Advertisement cost (D) Purchasing cost
ey CFaa] Qararpgd Cewey

028/DD/24 6



18.

19.

20.

21.

The wants satisfying power of a commodity or service is
perGeurfer eflpliugang flenmey Qelb qm LD Sdag uaiular ephned

(A) Total non-utility (B) Marginal utility
Qurgs LweTun(h @dareamwo @ndblee vwaTLr

&7 ility D) Average utility
LweTum() grrefl Lwerum@

Normative economics is concerned with the
@ueyeny Gurmerngrrid eflards@aug

(A) Whatis (B) Moral
TGN GTETLIENS B& wHmb Bimb
V What ought to be (D) Actually happens
eremar Qe Geudsr(Hibd Blgwrs BLbsene

Macro economics deals with
Cuflwed QuTHETTSTTD 4 TTIcUE)
(A) Static approach
HleneuImer = emi&pen
\V Dynamic approach
Qurig Heow g G®D
(C) Comparative static
@UEEL @uiisr e
(D) Both static and dynamic
@rerhio @uasT O GuniE Hlaw

The word ‘Micro’ is derived from language.
‘miemantlany’ erenm euniseng s QAumAuieNmhg GuplLLL g?
(A) Latin (B) Hindx
Qasdar adlpSl
(C) French !D’Greek
WClrgpe $Cr&ah
7 028/DD/24

[Turn over



22.  The objectives of the first five year plan in India are
paombd ghsrar@ S sder wpsflus GhlsCandrsdr, GndHurele
(A) Minimum production and full employment
GopHs 2 husd wHmnib wppGeusme Hae
(B) Minimum production and maximum satisfaction
G®pBs 2 HUSS wHmIb SFsaey Hmud
Maximum production and full employment
<i$ls 2 pugsd opmibd e Ceueme Hlana

(D) Maximum production and low per capita income
2iEls 2 HUSH LHDID GPDEUTET ST CuU(HLOMTETLD

23. Globalisation is generally termed as
2 QEDUIOTEED eranLg Durglieurs

G An increase in economic integration among nation

wrhsaiien G QuAmenTgTy eRedwlLTiganeT SdlatiLbhSE 50
(B) Decrease in economic integration among particular nation

@GP L prpsaflen.CGu Gum@merntgny @renbliuT yener Gamnsg Lo
(C) Partially increase in economic integration among nation

u@d LR QuIEETTSTT EHMLOLM Igmar HFSLILHSHISD

(D) Fully increased in economic integration among socialist country
swgio  priseaflds  wi@Eb  QurEanTsrr  @R@WLUILTL Igal  (P(HeDUINS

SHEILESHSD
24. “Laissez — faire” policy refer to
“irfler gapauilé Qsmetens eTemiig)
(A) Globalised trade (B) Regulated trade
2 @a&bwwnear eurerflLib pepliufiSslLl L eureRtlub
Free trade (D) Monopoly trade
senLulléem aumentluLd wHmfenn eumenfiib

25.  The congress government announced its industrial policy in

arrdlrey 7 sisaw W Qgmihs Qasrdarasamy ——— & PleNEss.
@/’ July — 1980 (B) July - 1981

s9ane — 1980 sdae — 1981
(C) August — 1980 (D) August — 1981

g&ev — 1980 <sevl — 1981

028/DD/24 8



26.

27.

28.

The basic objectives of economic planning in our country is to
Qunperrgry S8l alen p&flw Crrssid

M Increase national and per capita income

(B)
(©)

D)

Caflw Hmid FOT aUBLIATSMS 2 WTSZIeug)

Increase food production and self sufficiency

2 awre| 2 HuSH 2 WTEHSH LHND scraflmpaienL s

Increase employment opportunity and full employment

Gauenew eumililener GUmE@GHSD LHMID WPGeuemer Flanaeriu 2 (Heurd@GgeD
Increase agricultural production and remove rural poverty

Zaﬁg;?mm o HusHuienar QUEmEGSD wppib &ymolyp Ceuemeuierenoulianer

A comprehensive plan means
LTHE SO e ereTLg)

(A)

(B)

(©)

To cover particular aspects of the economy

@m @Il Qurmerrgry Crrésgang oerer &g
To cover some aspects of the economy

2@ o Qurmparnsry Crrésgsas o drerL &&lwg

To cover agricultural aspects of the economy
efeusmu Qur@ertgry Cprassams o drem_s&wg,)

M To cover all major aspects of the economy

aoer wsHw durmearnsry Cpréssmg 2 erarLsHwg)

The statement of Government’s policy and major instrument of the expression of the
Government programme
SIyEThE QaraTepaam b, S Lkismeryh OgMelaEEh o Briger wadu smed

(A)

(©)

Public expenditure Mudgetary policy
Qurgs Qaaaey aurey Qeoe| UL Gardrens
Monetary policy (D) Economic policy
L Q&TaTans QumeTrsTrs CHTeTens
9 028/DD/24
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29.  Equlibrium in the money market requires an

vew shenguded swblee maushE Coepeuwimean Hlubsemer
Equality between supply and demand for money
LenT ieTliLb, Geemeuu|b FOWLTE B)(HSS6

(B) Equality between demand and supply of goods
Lam_ Cgeneud@d, @il FInDng @)(HEH5e

(C) Equality between imports and exports
Grs@odun, gppodun sowrs G6S50

(D) Equality between rate of interest and income
eul i GIGEpLb, QU(HLOMET(PLD FLDOTE @) (S

30. Inrecent years, the sector contributes more to the National Income of India
sfu srasdle, QrHu Csflw eugpurarsdad s Lkias elsGh geop

(A) Agriculture (B) Industry
CeueTmamenin Gamfled
Services (D) Public sector
ventlger Gungsgienm

31. Net National Product (NNP) is equal to

Rlay Caflw o pusd (NNP) erarug

(A) Gross national product — depreciation — tax
Qorss Csdiw 2 pugd — Ceuinreand — aufl

(y’ Gross national product — depreciation
Qurss Cgdlu 2 pussl — Gauiwrerd

(C) GDP-GNP
GDP - GNP

(D) GDP - NNP
Qurse 2 apm @ 2 pLsH — Har Cedlu 2 hugs

32.  “The Wealth of Nations” by Adam Smith, published in the year
“rpsafler Qedead” eremm mre @euaflull iyl L e

@) 1774 & 1776

© 1771 D) 1777

028/DD/24 10



M

33. Deflation 1s a situation when prices fall along with
Liemeums L &regSle) LT miG@neEsnar eillane @GameugiL e L B <Beemned

‘ Re_duction in output (B) Increase in output
2 Huss Gepud 2 pusd siflafs@n
(C) Increase in employment (D) Increase in expenditure
GeueneveumiuiL] 2idl&f& @0 Grweay HafsE0n

34. Monetarist believe that a reduction in inflation can be achieved by
uaellwed HEhTser Lamaisssens &G@mmes HLOLeUF)
(A) Reducing wages
Fedlens &HNDESD
Reducing the quantity of nominal money
GLwITeTe) LT HeTeneud &HMmESe
(C) Reducing stock
LI GEneT (& DESHED
(D) Reducing investment
WPESOE@ET G@DSSED

35.  Which one of the following is not the objective of Foreign Direct Investment?
ECp Qsrhssiiu’ Hdereupmier o7 ipBiu Crrg (paeSiyer GHEGarer sida

(A) Sales expansion (B) Resource acquisition
efipuenar siflafitiy GUETRISET (el

(C) Diversification Mompetitive risk maximisation
LI 6U 60 T (&5 6D Gumly @LT flaNgze

36. The first UNCTAD conference took place in 1964 at
UNCTAD @pged wrprh 1964 pepl Gupp @b

Geneva (B) New Delhi
Qggerfau g Slevadl
(C) Santiago (D) Manila
Fnesriq uITGaET emiiexm
11 028/DD/24
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37. The level of National Income is directly affected by
Csdlu eumwnargder arey ergemmed Crrgwns undgaiuGdng ?

The trade account (B) The capital account
ualls sevéE (PBD_( H@THSG

(C) Official settlement a/c (D) Foreign portfolio a/c
SQeues Hlougd sHenmsd SiBEw Ui (pseSL (b searse,

38. The Mercantilists gave utmost importance to
aamflsaurdled ifs pafusgged CsThsss

(A) Agriculture (B) Manufacturing industry
GeuaTmeimenin 2 HUSHS Ggmiped
Trade (D) Imports
cuenflaLb B&@Ld

39.  According 2001 Census, the population of India was
2001 &&E Dgrens semsGadEUL Uk @bdwrele inssedr dgmams

(A) 236 million (B) 890 million
236 Bebebwehr 890 Hevedwer

(©) 1000 million @@”71027 million
1000 Hévedlwin 1027 Wcadlwier

40.  All poverty alleviation programmes implemented so far have less or no effect due to
DBETET ey SWPOUGSSILLL Smarsg e @fltius Sl kseEpn Lweaflen
Curengh@ smyemrid

(A) Unemployment (B) Joint family system
Ceuenesulleantn L (H& GHLU pem
Inequality (D) Corruption
ToDssIpel el

028/DD/24 12
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Regiéter
Number

DEPARTMENTAL EXAMINATIONS

DEPARTMENTAL TEST FOR EVALUATION AND APPLIED RESEARCH
DEPARTMENT

(Without Books)

Maximum Time : 1.30 hours ‘ .+ Maximum Marks : 60

IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
cilfleurer efleowefl&@d s alamggmdr

Read the following instructions carefully before beginning to answer the questions.
eflernéaEns@ e wallss QgmriGh apary SpsserrL. oifleeraamar FQUGTLONG Ll $56]LD.

1. Answers in excess of the prescribed number of questioﬁs appearing at the end of the

answer book will not be valued.

el smar AL @erer aaralEmades, aﬁqmns ﬂ@ﬁuﬁi@_ﬁa&]’sﬁr, alenL_ggraflenr Bmfufes

o drem ifis Graiurcwﬂésma;uﬁlmrrm efferLser wAIIR Geinuiuirg.

2. Incase of doubt, Enghsh version is the final.

efenésetia &p@gaﬁ@ulﬁlsﬂ ude algeld QarGasiur Garar aﬂmrrasa;@m @gﬁu_rrrsa@
PART -1

- L Answer any EIGHT questions out of Ten : | | - (8x3=24)

usg eflennssefidr erencuCuigyih cru_lq.ﬁ@ dlen_wefl&sa)b :

1. What is sampling?

wrdfs seafiiiy adnpre eremear?

2. What is Human development?

weflg eueTi&s eremmed eresan?

[Turn over



10.

II,

What is an array?

alflens eremmmed eramen?

‘Write a note on National Population Policy 2000.

Caflw wasear Agranss Qandrens-2000 & upil erpgs.

Distinguish between total and marginal utility.
Gurgst vwerur®, ool uweanur@® Caupubdsss.
Write a note on economic take-off stage.

Gurr@errrrg;rfg.@m@m@ Hlenay (Take off) eremmmed eremen ?

What are the factors determining population growth?

wEsar Cgrens auerréflarw Hiramuls@gh sryeflEer ereneu ?
What is a rolling plan?
‘&Q;'Dﬁl;ub’ TS GTemET ?

What is a pay-off matrix?

sieflgsed oienfll eremprdd eTéan ?

What is an Human Development Index (HDI)?

- weflg Cubur® @GHUG aearprd eremer?

PART - 1I
Answer any THREE out of Five questions: | 3 x 5=15)
ghg damssefid caaiCGuad aardpe e weaf :

Calculate mode and indicate the type of this distribution.
450, 400, 380, 370, 400, 420, 450, 340

psH sansss; GL@ID cTearar aums LT6le), TemLIens 6T(Lpsis.

450, 400, 380, 370, 400, 420, 450, 340.

028/DD/24 - 2



2. What is the difference between evaluation and audit?

wHISEH wHPId safsmssstar lsHunasDd eetar?

3. Write a note on Reserve money.

Qooy vend-Ay GHOY agis.

4, Write about the disinvestment of public enterprises.

Qurg fimeuaraseiien LkiE dlossman upl GHLALYSE.

5. Examine the characteristics of a good average.

poe syreEfuder gL QUOLSE Wree ?
PART - 111

III. Answer any THREE ouf of Five : - . (B3x7=21)
- gbg derssafldGhy amauGuaib qpap damss@és uﬁm’aﬂ&&:éqﬂ: :

1. Write a detailed note on one-tailed and. two-tailed tests.

@M pevar wHYD @, erar Gerganansaer) LpH ffleurer el g sms.

2." Comment on the performance of the students of the two universities given below
using simple and weighted arithmetic average.

University ' - Chennai : , Madurai
- Course of | Percentage of pass Numbér of students Percentage of pass | Number of students’
study | - %) | (00) S ) o (00)

M.A. 71 3 82 2

M.Com. 83 4 76 3

M.Sc. - 66 3 60 7

BA. . 73 5 13 i 6

B.Sc. 65 3 65 3

B.Com. ‘ 74 2 76 7

3 ' 028/DD/24
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-

N

@gem@ UDSMEESNE DTeRTeUTEaTIen g‘;l,r_r)mmemu_l., Beopudi L sal G syrEf whHmd erafiw

gl () srreflenws sansdhs

L sanassLpsLD QFerenan LD &0ty
 |ugs@b uTLib] Gsisd sseldlgn | ramat aarafisms | Csisd sgeldlsn | wreamet aaramfsms
. (%) (‘00) (%) (00).

M.A. 71 3 82 2

M.Com. 83 4 76 3 -

M.Se. 66 3 60 7

B.A. 73 5 73 6

B.Sc. ' 65 3 65 3
B.Com. T4 2 76 7

3. Explain the role of agriculture in economic development.

Qurmargry openGarppsded Ceerraranouler Lkims clas@s.

4. Explain the causes of population explosion.

&S Ggrans @lll@é;asgfgﬂmasrrm ST TR RIS En T aﬁldn‘s@a;.

5. What are the characteristics of labour?

2 P eTeTpTed erean? 2 epplildler @uichsmen elleTé@s.
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